

Q1: What are some things you are concerned about regarding the facility upgrades?

Started: 26 Feb 2014 **Ended:** 31 Mar 2014

To view the community results, click on each of the three questions below in turn. You will then see the groups of ideas from the participants. The ideas are listed in order, starting with the highest priority. By clicking on each of the ideas, you can see the individual responses that make up a group.

The overall rating is the total number of stars assigned to that group of thoughts. The participant count is the number of people who assigned at least one star to that group. Finally, the average rating tells you how many stars on average that group received.

Priorities Summary

Overall rating - total number of stars assigned to that group of thoughts

Participant count - the number of people that assigned stars to that group of thoughts

Average rating - the average number of stars that was given to that group of thoughts. The overall rating divided by the participant count. Average Rating can indicate a small number of people are passionate about a particular subject. You will often see a group of thoughts with a higher average rating than a group higher in the list. This can indicate that the people that did add stars to that group felt it was very important.

	overall rating	participant count	average rating
Separate areas for different ages/grades	18	7	2.57
No cuts to staff	16	7	2.29
bathrooms need to be accessible on quick notice	15	8	1.88
I am concerned that there be adequate classroom space to accommodate the increase in students	15	6	2.50
Adequate size of classrooms for integrated learning and growing class sizes	13	7	1.86
Please be sure that shared spaces are adequate.	13	6	2.17
how are you going to control traffic on the east and west side	11	5	2.20
Will there be enough space for all students?	11	6	1.83
Adequate room and access points for Traffic Flow	10	6	1.67
Design for future needs as well as immediate needs	10	4	2.50
renovate the K - 3 school	9	4	2.25
Create an environment that is inclusive but retains uniqueness	8	4	2.00

Q1: What are some things you are concerned about regarding the facility upgrades?

	overall rating	participant count	average rating
separation of the younger grades	8	4	2.00
To have a safe, knowlegable facility for all the students in the school.	7	3	2.33
Will One school attract people to Hanna?	6	3	2.00

What are some things you are concerned about regarding the facility upgrades?

Adequate room and access points for Traffic Flow

G10

Thought: Traffic Flow

T10

Adequate room and access points for buses and parents to pick-up and drop-off students, keeping in mind that a parking space is required for high school students. The parking lot driveway should not be near the bus/parental area due to congestion and the potential for incidents with new or inexperienced student drivers.

Adequate size of classrooms for integrated learning and growing class sizes

G4

Thought: Classroom Size

T4

Adequate size of classrooms for integrated learning and growing class sizes.

bathrooms need to be accessible on quick notice

G5

Thought: Bathrooms

T5

For young ECS and primary students, bathrooms need to be accessible on quick notice, across the hall or in ECS directly in the classroom.

Create an environment that is inclusive but retains uniqueness

G11

Thought: Culture

T11

Creating an environment that is inclusive of all ages while still having the ability to retain the primary, elementary, junior high and senior high elements that make each of them unique in their own way. Many of us have attended k-12 schools and they do work but all involved, staff, parents, community members, must be open to allow the change rather than fight against something that can turn out to be a wonderful experience for students.

Design for future needs as well as immediate needs

G1

Thought: I am excited to see the School Board move forward with this project.

T1

Thank you for thoughtfully considering the publics concerns. Please be sure to design for future needs as well as immediate needs as this is a retrofit that will serve the community for many years.

What are some things you are concerned about regarding the facility upgrades?

how are you going to control traffic on the east and west side G13

Thought: traffic T13

how are you going to control traffic on the east and west side. what will it do the neighborhoods

I am concerned that there be adequate classroom space to accommodate the increase in students G7

Thought: I am concerned that there be adequate classroom space to accommodate the increase in students T7

No cuts to staff G6

Thought: Job Stability T6

No cuts to staff, they did not ask for this merge, therefore they should not suffer potential job cuts.

Please be sure that shared spaces are adequate. G2

Thought: Please be sure that shared spaces are adequate. T2

I refer to library, gyms and washrooms. I trust these areas will be able to accommodate all grades and sizes of children.

renovate the K - 3 school G16

Thought: renovate the K - 3 school T16

renovation on the K - 3 school is much more economical than renovating J C Charyk school. The K - 3 school is on a nice lot with playground equipment and everything all set up. When you consider the cost of moving the street and losing part of the football field.

Separate areas for different ages/grades G9

Thought: Building needs to be set up to divide elementary and jr/sr high students T3

Thought: Separate areas for different ages/grades T9

What are some things you are concerned about regarding the facility upgrades?

(continued)

Separate areas for different ages/grades

G9

I think it is important that the different grades be set up in somewhat separate wings of the school. Important for young children in Kindergarten/Grade 1 to not have to be overwhelmed by navigating large complicated school.

separation of the younger grades

G17

Thought: separation of the younger grades

T17

the children in grades K - 3 should be separated from the high school students. Put yourself in the shoes of young parents. Would you want your small child exposed to all the going's on in the High School. It is only common sense. We have a perfect set up in town as is. Keep the K - 3 Separate.

To have a safe, knowlegable facility for all the students in the school.

G14

Thought: To have a safe, knowlegable facility for all the students in the school.

T14

It must be of top priority that a very safe surrounding is given to the youngsters that are being transered there from Hanna Primary. It is vital that these young children are confident that the school division has put there well being for safety and knowledge at the top of there final plans for the renovation of this school.

Will One school attract people to Hanna?

G15

Thought: Will One school attract people to Hanna?

T15

We all want Hanna to Grow. Having a K - 12 school will Discourage folks from moving to Hanna. We are a Dieing Town. Having One school is Not an attraction!

Will there be enough space for all students?

G8

Thought: Will there be enough space for all students?

T8

Concerned about space for classrooms.
How will gym and library use be managed? Will these facilities need to be expanded/2nd library or 3rd gym be constructed?
Will there be space and oportunites to give all students opportunity to access specialized classrooms? (Science lab, home ec kitchen, shop, etc)

Thought: lack of room

T12

What are some things you are concerned about regarding the facility upgrades?

(continued)

Will there be enough space for all students?

G8

how are you going to cram all the extra bodies in

Q2: What are some of the potential benefits of upgrading this facility?

Started: 26 Feb 2014 **Ended:** 31 Mar 2014

Priorities Summary

Overall rating - total number of stars assigned to that group of thoughts

Participant count - the number of people that assigned stars to that group of thoughts

Average rating - the average number of stars that was given to that group of thoughts. The overall rating divided by the participant count. Average Rating can indicate a small number of people are passionate about a particular subject. You will often see a group of thoughts with a higher average rating than a group higher in the list. This can indicate that the people that did add stars to that group felt it was very important.

	overall rating	participant count	average rating
A technically advanced modern facility	16	7	2.29
Added chances for more courses available to all students.	12	6	2.00
Interaction will all age groups of children	11	4	2.75
Mentorship programs for Jr/Sr high students with elementary students	10	6	1.67
Integration of all ages of students	9	5	1.80
Shared Learning Environments	9	6	1.50
An area designated for mental health and wellness for staff and students	7	4	1.75
That a sense of community could be fostered among the entire student	7	4	1.75
More Options	4	2	2.00
1 location to take children rather than 2 separate locations	3	3	1.00
Cost savings	3	3	1.00
traffic	0	0	0.00

What are some of the potential benefits of upgrading this facility?

1 location to take children rather than 2 separate locations **G5**
Thought: 1 location to take children rather than 2 separate locations **T5**

Added chances for more courses available to all students. **G12**
Thought: Added chances for more courses available to all students. **T13**
 If these students are moved then so should be all the teachers so as to keep as many hours of teaching available to the junior classes.

An area designated for mental health and wellness for staff and students **G4**
Thought: An area designated for mental health and wellness for staff and students **T4**

A technically advanced modern facility **G11**
Thought: Adding state of the art facilities for students **T9**
 Able to wire in new technology in all classrooms - video conferencing, power and network outlets throughout rooms to support students using their own devices.
 Addition or upgrades to classrooms - science labs, kitchen, etc.
Thought: A technically advanced modern facility **T11**
 Ensuring that our kids have the best opportunities, not only in programming but in the physical plant structure is essential for their future. We must all think of the next generation and not of ourselves as adults who are reluctant to try new and different things. We should consider ourselves extremely fortunate to have the opportunity to see what our planning efforts can accomplish. We are the minority of communities that are gifted with the public dollars to enhance our students lives.

Cost savings **G2**
Thought: Cost savings **T2**
 It is obvious that there should be savings in utility costs as well as staffing overlaps (libraries,etc.) increased utilization of any building will realize savings.

What are some of the potential benefits of upgrading this facility?

Integration of all ages of students

G10

Thought: Integration of all ages of students

T10

I truly believe that people develop greater potential and are more well rounded if they are in an environment of diversity. That includes diverse age groups as we all need should have the ability to teach, learn and respect whatever our age or profession. The amalgamation can provide the adults in the building with an opportunity for growth and discovery of untapped skills when dealing with all age groups rather than a segment.

Interaction will all age groups of children

G1

Thought: Interaction will all age groups of children

T1

I believe it is natural and beneficial to all children to have the opportunity to learn from each other. There will be more opportunity for the older children to help with the younger grades. Children live with children older and younger than them, ride the bus together so why not at school. It works elsewhere in the division.

Mentorship programs for Jr/Sr high students with elementary students

G3

Thought: Mentorship programs for Jr/Sr high students with elementary students

T3

More Options

G7

Thought: More Options

T7

Maybe more classes can be offered for high school, as in Drama, Music, Dance etc. Can we become a composite school. to meet all learning needs?

Shared Learning Environments

G6

Thought: Shared Learning Environments

T6

Grade grouping sessions

That a sense of community could be fostered among the entire student

G8

Thought: That a sense of community could be fostered among the entire student

T8

What are some of the potential benefits of upgrading this facility?

(continued)

That a sense of community could be fostered among the entire student population of Hanna **G8**

traffic **G13**
Thought: traffic **T12**
how is traffic going to be controlled on the east and west side

Q3: What are some things you would like students, staff and community members to be able to experience and achieve in the modernized facility?

Started: 26 Feb 2014 **Ended:** 31 Mar 2014

Priorities Summary

Overall rating - total number of stars assigned to that group of thoughts

Participant count - the number of people that assigned stars to that group of thoughts

Average rating - the average number of stars that was given to that group of thoughts. The overall rating divided by the participant count. Average Rating can indicate a small number of people are passionate about a particular subject. You will often see a group of thoughts with a higher average rating than a group higher in the list. This can indicate that the people that did add stars to that group felt it was very important.

	overall rating	participant count	average rating
More access to technological advances and current teaching methods,	14	7	2.00
Opportunities for older students to interact & mentor/help younger students	12	7	1.71
A welcoming atmosphere for elementary students and their families	10	5	2.00
Accessibility to mental health and wellness within the facility	9	5	1.80
A feeling of belonging	8	5	1.60
Hands on learning	8	4	2.00
A complete community building.	7	3	2.33
Achieve in New Facility	6	3	2.00
Central services should make life easier.	5	4	1.25
I would like to see all the grade classes working together for each other.	4	2	2.00
Inviting common areas	3	2	1.50

What are some things you would like students, staff and community members to be able to experience and achieve in the modernized facility?

Accessibility to mental health and wellness within the facility **G3**
Thought: Accessibility to mental health and wellness within the facility **T3**

Achieve in New Facility **G11**
Thought: Achieve in New Facility **T11**
 I can't see how a new facility should change anything. Teachers, should be doing their utmost to teach students whether it be in and old or new facility.

A complete community building. **G2**
Thought: A complete community building. **T2**
 The school is central in a young families life. I encourage this facility to see maximum use during the day and also for community use after hours and on weekends. Continued cooperation between Board and Town Council is key.

A feeling of belonging **G8**
Thought: A feeling of belonging **T8**
 Regardless of the physical layout of the building it is essential that all staff and students feel that this is everyone's building; not yours, not mine, but ours.

A welcoming atmosphere for elementary students and their families **G4**
Thought: A welcoming atmosphere for elementary students and their families **T4**

Central services should make life easier. **G1**
Thought: Central services should make life easier. **T1**
 When my children attended school it was difficult coordinating between two schools. I was so thankful we had just eliminated the third school.

What are some things you would like students, staff and community members to be able to experience and achieve in the modernized facility?

Hands on learning

G6

Thought: Hands on learning

T6

To benefit the students that cannot always learn by sitting in a desk or by reading text, learn by doing!!

Inviting common areas

G9

Thought: Inviting common areas

T9

Areas for students to feel that it is an inviting gathering area with opportunities for networking, visiting, studying. This type of area would be conducive for some community events as well. Lets share the good things about our building as it is not ours, it is everyones and built with public dollars.

I would like to see all the grade classes working together for each other.

G10

Thought: I would like to see all the grade classes working together for each other.

T10

A very comfortable , safe environment for all involved in the educational process for many years to come. I think it is of utmost importance that there is great thought put into washroom,water fountains and recreation facilities for the smaller students. Also a good loading and unloading area for these little ones so as to keep them safe because for a while when the transfer takes place these students may become very disoriented.

More access to technological advances and current teaching methods,

G7

Thought: More access to technological advances and current teaching methods, encouragement and accountability among all grades

T7

Opportunities for older students to interact & mentor/help younger students

G5

Thought: Opportunities for older students to interact & mentor/help younger students

T5